
Name_______________________            Date_______ 
 
Circle any sums that give the answer 10     Circle any sums that give the answer 20 
 
 
8 + 2  6 + 3  2 x 5  12 – 6     5 + 5  2 x 10  4 x 5  20 – 10 
 
 
 
Write numbers in the shapes to make the sums correct 
 
  
   +      =   15       X       = 20          -       = 10 
 
 
 
Write the total 
 
11 + 4 + 6 =   8 + 6 + 2 =   18 + 10 + 3 =   14 + 20 + 6 = 
 
 
Put a ring around the smallest number 
 
  133     167   109   126   180  233   133   103   113   123  115   246  111   110   201 
 
 
Write the number in the box to make these correct 
 
16 -     = 10 24 -    =  12 20 -    =  8  30 -     =  18 



  
 
  
  
 

 
  
 

Spend  29p 

Tomato             10p              
   
Potato              4p 
 
Cabbage   25p 
  
Carrot    6p 
 
Pepper   30p 
 

Spend  44p 

Tomato             10p              
   
Potato              4p 
 
Cabbage   25p 
  
Carrot    6p 
 
Pepper   30p 
 

Spend  35p 

Tomato             10p              
   
Potato              4p 
 
Cabbage   25p 
  
Carrot    6p 
 
Pepper   30p 
 

Tomato             10p              
   
Potato              4p 
 
Cabbage   25p 
  
Carrot    6p 
 
Pepper   30p 
 

Tick the correct 
boxes 

Spend  20p 



There are 3 pencils in a pot. How many pencils in 5 pots? 
         
 How many in 5 pots? 
 

How many in 10 pots?    
 
 

The teacher has 15 pencils. If she puts five in a pot, how many pots will she need? 
 

If she puts 3 in each pot, how many pots will she need? 
 

 
There are 5 pencils in a pot. How many pencils in 3 pots? 

 
How many in 6 pots? 

 
How many in 4 pots? 

 
 

 
Sarah, Ben and Rebecca have 3 colouring pencils each. How many do they have altogether? 
 
If Ben lost 2 of his pencils, how many would there be altogether then? 
 

 
 

There are 24 children in the class. The teacher gave them all a new pencil.  Then 6 children lost their 
pencils! How many pencils are left? 



     
    17          6          14  
10+6        10+4       3 x 5    
 
    16         17           16 
8+4       12-6       2 x 6       
 
    12          5 
12+5       9-3       10 x 4      40 
 
    14          6 
9+9       14+3       7 x 2       15 
 
    18         14        
                      12 
  
Make each of these sums match the right answer  
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